PR/ RER
JAZ 5

= . , _ A&
HORS RS gy | SRERRD | AWRLE | mame
JA6-3-050 6 M3x0.5 19 0.5
JA10-4-070 10 M4 x 0.7 54 0.5
JA15-5-080 10-15 M5 x 0.8 123 05
JA15-6-100 15 M6 x 1 123 0.5
= | JA[20-8-125 20 M8 x 1.25 1100 0.5
J [JAD30-10-125| 25-30 |M10x1.25 2500 0.5
AR [JATI40-14-150 40 M14x 15 6000 0.75
JAZ JA63-18-150 | 50-63 | M18x 1.5 11000 1
JAC80-22-150 80 M22 x 1.5 18000 1.25
. JAT100-26-150] 100 M26 x 1.5 28000 2
BERTHIE JAT140-30-150] 125140 | M30x 1.5 54000 25
JA1160-36-150] 160 M36 x 1.5 71000 3 s
JA 40| — [14-150| — [ X11] JAC120-8-100 20 M8 x 1 1100 05 B
et ke ) JAC125-10-150 25 M10 x 1.5 2500 0.5
— T oot mosleocrmn - T JALI32-10-100 32 M10 x 1 2500 0.5
RiRs | AR T B0 Rar|iE s R e JA40-12-125 | 30-40 | M12x1.25 4400 0.75
F | 6 6 3-050 |M3x05 X4 5-100c JA140-12-150 40 M12 x 1.5 4400 0.75
Lo | mopem 0| 10 4070 [Max07 K |JAT40-12-175 | 30-40 | M16x1.5 4400 0.75
5 1015 5080 |M5x08 */é JACI50-16-150 50 M16 x 1.75 11000 1
P o0 o1 o |[JACI63-16-200 | 50-63 M16 x 2 11000 1
o . (MBx125 JAJ80-20-250 80 M20 x 2.5 18000 1.25
it 0] 253 = T JA1100-24-300 100 M24 x 3 28000 2
®l40 | 40 10125 |MI0x1.25 JAC100-27-150] 100 M27 x 1.5 28000 2
63 | 50,63 14x150|M14x15 JA]125-27-200] 125 M27 x 2 28000 2
80 80 18x150|M18 x 1.5 JAJ160-33-200] 160 M33 x 2 71000 3
100 100 22x150|M22 x 1.5
140 | 125,140 26x150|M26x1.5
160| 160  30x150|M30x15
36 x 150| M36 x 1.5
SERTE (%)
M M M M
e - A [
S~ N L / DL::: ! — }F ) //- \
= W T = W
OF/ L L
B .G, H OF L N —
C | .E P B PG H
c
A A
e M |A|B|C|D|E|F|G]|H|%%&E
JA6-3-050 | M3x05 |232 | 7 8 12 [15] 4 [32] 55 5
JA10-4-070 | M4ax07 | 26 | 9 10 [ 12 |15 4 4 7 55
JA15-5-080 M5x0.8 | 34.5 | 125 | 14 16 2 6 5 10 7
JA15-6-100 Méx1 | 345|125 14 [ 16 | 2 6 5 10 7
JA20-8-125 | M8x125 | 44 | 175 21 [ 45 | 7 7 13 8
JA30-10-125 | M10x1.25 | 49.5 | 19.5 24 | 5 8 8 17 9
JA40-14-150 | M14x1.5 | 60 | 20 31 6 1| 11 | 22 13
JA63-18-150 | M18x1.5 | 745 | 25 41 [ 75 | 14 [135 | 27 15
JA80-22-150 | M22x1.5 89.5 29 50 9.5 19 16 32 18
JA100-26-150| M26x1.5 | 110 | 35 595 (115 | 24 | 20 | 41 24
JA140-30-150| M30x1.5 152 42 45 79 14 30 22 46 38
JA160-36-150 | M36x1.5 | 178 | 52 | 55 | 96 | 16 | 36 | 24 | 55 42

1.361






